  4. The Individual As Producer, Consumer And Borrower
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III. Labour Force
[image: image1.png]The labaur force is all those peaple between the ages of 16 and &5 who are in wark. How s the
abour force changing in the UK?

GROWTH OF PART TIE AND TEWPORARY WORK
BENEFITS TO BUSINESS

« Can employ warkers for the busy time periads e.g. McDonalds on Saturday.

« 1t is cheaper than to employ them full time

» The business can reduce its costs mare sasily by reducing the size of its workforcs.
« They can bring in workers for busy seasanal periods .g. Xmas.

BENEFITS TO WORKERS

« Alows more laisure time.

« Avoids too much stress at work,

« dany alder warkers go part time before they eventualy retire

« Tamporary workers can leave their jobs very quickly. They don’t nead to g
the employer.

« Suits workers wha have to look after their children at certain times

50 much notics to

WOEN AT WWORK
THE AVERAGE PAY OF MEN HAS BEEN HIGHER THAN WOMEN

« ten are more liely to go into the highest positions in the business
« Bias or discrimination at wark against women.

« The traditional expectation that women will leave work to look after the children
« Women are more likely to work part time or temporary.




[image: image2.png]HOW TO REDUCE THE GAP IN WAGES

« Equal pay laws. It is llegal to pay different rates for the same job.

« Equal opportunities for all staff when promoting workers to higher positions.

« Providing child care facilties at wark (these could be paid for by the government)

« Promote_positive female role madels i.e. women who have been successful in business. For
example Anita Roddick set up the Body Shop.
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IV. Mobility of Labour
[image: image4.png]Two key topies to understand are geographic and occupational mobility of labour

) GEOGRAPHICAL

People are willing and able to move between regions or areas in order to take a new job. They

often have to move homa.

b) OCCUPATIONAL

Peaple are willing and able to move betwe=n types of jobs or occupations e.g. an unemployed coal

iner bacames a salesman

‘GEOGRAPHICAL IMMOBILITY OF LABOUR

People are unermployed because they are not
prapared to mave araas (a.g. leave their
home ares) in order to take up work.

Reasons
Cost of maving

House prices in other areas
Friends in ths current area
Children’s education

OCCUPATIONAL INMOBILITY OF LABOUR
People are unemployed becauss they are urwiling
towork in  job which is diffarent to what they had
previously

Reasons

A unemployed minar doasn’t neccesarlly have the
skills to use computers.

Lack of confidence

Can’t be bothered

Lack of education

Lack of training.
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V. Minimum Wage

[image: image6.png]Each working person is guaranteed a minimum wage for work in the UK. It is illegal for an
ermployer to pay a figure below this. The minimurn wage is different for under 21 and aver 21

ADVANTAGES OF THE MINIMUM WAGE

Fair for workers to be paid a minimum wage

- Helps low earners gain & higher standard of living

- Extra disposable income should lead to extra spending in the economy

- Helps increase the gap betwsen wages for low earners and unemployment benefit
- Way help reduce unemplayment

DISADVANTAGES OF THE MINIMUM WAGE

- Increases the cost to businesses

~Businesses may increase their prices (cost push inflation)

- Businesses may be unable to affard to employ as many workers
Could cause unemployment
Other warkers may now ask for a pay rise
Doesn’t help the unemployed who don’t recsive a wage
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Aims/Advantages of a Minimum Wage 3264 »

« Reduce exploitation of lower paid workers

« Reduce the scale of relative poverty & inequality - direct boost
to the earnings of over 1.5 million workers

« Reverse the effects of employer discrimination

« Improve incentives for people to find work and therefore reduce
benefit dependency (lower welfare bill for the government)

« Expand the aggregate labour supply - helps to boost economic
growth in the long term

* NMW should reduce the need for low paid workers to claim “top-
up state benefits” such as income support

« ANMW might reduce rates of labour turnover in many jobs

Nations Minimum Wage Er=r——




[image: image7.png]In the diagram above, £3.80 is the free market equiibrium wage, supply is equal to demand. At
this point 1000 people are employed

Imagine that a minimum wage s imposed at £4.20. Some businesses can’t afford their wage bill
and reduce their workforce. Now only 750 warkers are ermployed. 250 have become unemployed
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[image: image13.png]A Pay Floor Above the Free Market Equilibrium

8/264 b

A minimum wage set above the
free market wage may have the
effect of creating an excess
supply of labour at the ruling pay
floor




[image: image14.png]The Importance of Elasticity of Demand for Labour

11264 »

‘When labour demand is inelastic,
the employment effects of a
NMW are less pronounced -
perhaps because businesses fecl
able to pass on the higher costs o
final consumers

National Minimum Wage.

ET e e—




[image: image15.png]Impact When Labour Demand is Elastic
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When labour demand is elastic, a
tise in the NMW may cause a
sharp contraction in labour
demand (cet par)





[image: image16.png]A Rise in Labour Productivity or Higher Demand 18/264 )

If workers become more productive, then
the unit cost of what they produce at a
given wage rate will go down. This may
cause an outward shift in labour demand
—and possible a higher level of
employment despite the NMW

National Ninimum Wage. T —




[image: image17.png]Disadvantages of a National Minimum Wage VSRR

« Fallin employment for younger and less productive workers

« Danger of “pay-leapfrogging” as workers seek to maintain
existing wage differentials

« Risk of higher wage inflation - feeding through to higher interest
rates

« Damages competitiveness of some firms - particularly those
industries facing significant international competition

« The NMW is perhaps not the best or most effective way to
alleviate the problem of relative poverty - only affects those
people in work on very low wages

« Free-market economists believe that a NMW creates artificial
distortions in the way the labour market works - let wages find
their own level - a source of government failure?




[image: image18.png]NMW and Employment - The Evidence So Far 21264 »

« Effects on overall employment are small / inconclusive
« Most businesses anticipated introduction of NMW in 1999
« Productivity enhancements have kept costs under control

 NMW was set at a fairly low level - even with the increase to £4.10,
the NMW only 38% of median male hourly earnings

* Some industries have benefited from an increase in demand
« Sustained economic growth has kept the aggregate demand for
labour at a high level
« Some sectors are more sensitive to a NMW
* Low value-added textiles, clothing and footwear
« Leisure industry
« Security guards
« Hotels and catering

National Minimum Wage T Er—




[image: image19.png]Evaluation: Different Views on the Minimum Wage 23/264 »

® Low Pay Commission (Feb 2001)
© nsignificant effects on wage inflation
Employment impact sight 5o far - strong economy has helped
© Little effect on business training programmes

® Confederation of British Industry Report (Spring 2002)
Many basinesses pre-empted launch of NAW 1 1998

© NUW set at a prudent / sensible Level

@ Test of KW will come in an ecanomic recession or lowdown

‘»Trade Unions (TUC Policy Statement 2001)
@ Campaigning for  higher NAV. (minimum of £5 per hour)
© Concemned that young workersarenot aware of ther statutory ight (o the KW

* Low Pay Unit (ieing Spring 2002)
1 the short- o medium.- term, the NAW should be raised t 3 evel that i equivalent to hlf-male
median earrings (currently £5.38 an hour)

® Ininelong tem, the gouerment shid adopt o decocy rshol 35 the stamdard for the arust -
fating of the . The Council of Europe'sdecency threshold is currently £7.97 an hour. The Low Pay
s Gecency threshold s 17.32 an hotr

@ NUW should be up-rated each year i lne with average eamings

* MW has to be viewed in conjunction with other government policies designed to improve
the incomes of poor households (including the Working Families Tax Credit)




VI. Poverty and Inequality
[image: image20.png]Low Pay Unit View 24/264 )

« At best, the National Minimum Wage is set at levels that are
barely restraining the differentials between high and low pay
from widening beyond the vaguest notion of decency. It is
certainly not helping the redress the damaging inequalities in
pay

« At the same time, we are sad to see so many low-paying
employers treating the NMW as the going rate, rather than as the
absolute minimum

« We press for a single level to be paid to all workers, regardless
of age, that ensures that work really does pay

Nationsl Minimum Wage. ErE N —




[image: image9.png]INEQUALITY
‘The unequal distribution of income and wealth in society

e.g. 1% of the population owns 20% of the nations wealth

& 50% of the population owns anly 6% of the nations wealth
CAUSES OF INEQUALITY

- Differant wages e.g. Beckham / roadsweeper
- ifferent levels of skill and education

- Inheritance (being born fnto it)

- Taking a risk and gaining a reward e.g. setting up business / shares

HOW TO REDUCE INEQUALITY

- Make the higher sarmers pay more incore tax. (progressive ) (se= page )
- Increase benefits for the unemployed

- Increase the minimum wags for low earners

-~ Increase inheritance tax (when paaple are given family monay)
Increase pensions
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PAGE  
4 - 10
Additional Notes
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Problems Created by Low Pay

29/ 514 »

« Low paid workers cannot support their families at an adequate
level

« Low pay reduces incentives to take up or stay in paid work -
creating a “dependency culture”

« What is the poverty trap?

Where low income households have disincentives to earn extra
income because of the interaction of the tax and benefit system

These families often face much higher effective rates of tax than
higher-income households

Means tested benefits are taken away as extra income is earned

Employees become liable to pay income tax, national insurance
contributions etc
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[image: image23.png]Lowest Paid Jobs in 2000
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